
00730 A B C D CH PACK

0073000001 1/4 8 49,5 24 21 10

0073000002 3/8 11,5 53 24 21 10

0073000003 1/2 14 55,5 24 21 10

00731 A B C D CH PACK

0073100001 1/4 8 49,5 24 21 10

0073100002 3/8 9 50,5 24 21 10

0073100003 1/2 10 51,5 24 21 10

00732 A B C D CH PACK

0073200001 1/4 12 50,5 24 21 10

0073200002 3/8 12 51,5 24 21 10

0073200003 1/2 15 56 24 21 10

00733 A B C D CH PACK

0073300002 8/6 - 139 24 21 10

0073300004 10/6,5 - 147,5 24 21 10

0073300003 10/8 - 147,5 24 21 10

0073300006 12/9 - 154,5 24 21 10

0073300007 12/10 - 154,5 24 21 10



01600 Misura A B H PACK

0160000110700 3/4 32 27.3 2.5 20

0160000110900 1" 29.5 33.7 02:05 20

01115 Tube A B L1 L2 CH1

0111500011 6/4 M5 4 19,5 20 8

02010 A B L CH

020100001PGNB M3 2,8 10 5

02040 A A1 B L CH

020400001ALNB 3/8 3/4 11,5 32,5 32

020400001ASNB 3/4 1 16,5 41 41



02050 A A1 B L CH PACK

020500001AHNB 1/2 3/4 10 31 32 10

02070 A A1 L B CH

020700001YNNB M5 M5 18,5 4 7

02090 1-ott-2017 Manca 3D A A1 B L CH

020900001APNB 1 1/2 12 20 40

020900001AQNB 1 3/4 12 20 40

020900001YPNB M5 M3 4 6,5 7

0209000014WNB 1/4 M5 8 13 17

02092 A A1 B L CH

0209200012 M7 M5 5 12 10



03015 1-ott-2017 Manca 3D A B L D CH °C Min

0301500011 M7 4 6 8 2 -20

03040 A A1 B C L CH

030400001VBNB 11 1/8 19,5 7,5 32 12

030400001RPNB 11 1/4 19,5 11 35,5 14

030400001QRNB 11 3/8 19,5 11,5 36 17

030400001VFNB 11 1/2 19,5 14 39 17

0304000015PNB 15 1/4 19,5 11 35,5 22

0304000011GNB 15 3/8 19,5 11,5 36 17

030400001CPNB 15 1/2 19,5 14 39 22

030400001VGNB 15 3/4 19,5 14,5 43,5 27

030400001VCNB 21 3/8 30 11,5 47,5 22

030400001VHNB 21 1/2 30 14 49,5 22

030400001VINB 21 3/4 30 14,5 54 27

030400001VDNB 27 3/4 30 14,5 52,5 28

030400001ULNB 27 1" 30 16 53,5 34

030400001VENB 34 1" 30 16 55 36



03045 A A1 B L C CH

030450001BQNB 4 1/8 20 30 6 14

030450001TANB 19 3/4 24 41,5 12 30

030450001VBNB 11 1/8 20 30 6 14

030450001RPNB 11 1/4 20 33 8 17

030450001QRNB 11 3/8 20 34 9 19

030450001VFNB 11 1/2 20 35,5 20 24

0304500015PNB 15 1/4 20 33 8 17

0304500011GNB 15 3/8 20 34 8 19

030450001CPNB 15 1/2 22 37,5 10 24

030450001VGNB 15 3/4 22 39,5 12 30

0304500016QNB 3 M5 7,5 15,5 4 8

030450001VINB 21 3/4 24 41,5 12 30

04040 A B B1 C L CH

040400001B5NB M5 4 5,5 11 22 9



06054V A B L øc D CH

06054 V0 004 3/8 54 98 46 31 22

06054 V0 005 1/2 60 112 51,7 34 27

06054 V0 006 3/4 70 135 63,5 39 33

06054 V0 007 1” 76 143 69 42 41

06054 V0 008 1”-1/4 92 165 86 49 50

06054 V0 009 1”-1/2 102 180 96 54 60

06054 V0 010 2" 115 207 109 60 75

06750 A L ø I H M

06750L0001 3/8 45.5 10 11.5 71 120

06750L0002 1/2 55.5 15 14 74 120

06750L0003 3/4 66 20 16 76.5 120

06750L0004 1” 75 25 17 81 120

06750L0005 1”1/4 85 32 18 99.5 166

06750L0006 1”1/2 99.5 39 19 102.5 166

06750L0007 2“ 115 48 21 109 166



06755 A L ø I H M

06755L0001 3/8 45.5 8 14 71 120

06755L0002 1/2 55.5 10 14 74 120

06755L0003 3/4 68 15 16 76.5 120

06755L0004 1” 78 20 17 81 120

06755L0005 1”1/4 90 32 18 99.5 166

06755L0006 1”1/2 100 39 19 102.5 166

06755L0007 2“ 115 48 21 109 166

06760 A L ø ø1 I H

06760L0002 1/2 56 10 10 14 61.5

06760L0003 3/4 68 15 15 16 65

06760L0004 1” 78 20 20 17 69

06760L0005 1”1/4 90 25 25 18 74

06760L0006 1”1/2 100 32 32 19 80

06760L0007 2“ 115 40 40 21 86

06760L0008 3“ 180 68 80 25 132



06765 A L ø ø1 I H

06765L0002 1/2 56 10 10 14 61.5

06765L0003 3/4 68 15 15 16 65

06765L0004 1” 78 20 20 17 69

06765L0005 1”1/4 90 25 25 18 74

06765L0006 1”1/2 100 32 32 19 80

06765L0007 2“ 115 40 40 21 86

06765L0008 3“ 180 68 80 25 132

LUC01 Ø

LUC0100002 6

07030 A F H CH °C Min

0703000008 M7 5 23 10 - -10



40020V Tube A B C L2 CH1

40020V0001 4 M5 6 13 20 10

40020V0020 6 M5 6 13 20 10

40020V0033 4 M8X1 6 13 20 10

40020V0037 4 M6X1 6 13 20 10

40116V Tube A B L1 L2 CH1

40116V0002 4 M5 0,211805556 21 20 11

40116V0007 6 M5 0,211805556 21 20 11

40116V0026 4 M6X1 0,211805556 21 20 11

40116V0027 4 M8X1 0,211805556 21 20 11

40116V0028 6 M10X1 0,211805556 21 20 11

50010 TUBE A B C L CH

5001000N11 6 M6x1 5 12 24 0,086805556

55050 Tube M L CH A MAX PACK

5505000005 8 M16X1 38,8 18 14,5 10



55126 Tube A B L1 L2 CH1

5512600015 8 3/8 8,1 22,5 34,5 10

5512600016 10 1/4 7,1 26,5 43 13

5512600017 10 3/8 8,1 26,5 43 13

5512600018 10 1/2 9,6 26,5 45 13

5512600019 12 1/4 7,1 31 45 16

5512600020 12 3/8 8,1 30,5 44,5 16

5512600021 12 1/2 9,6 31 46 16

55230 Tube L1 L2 CH D D1

5523000019 4-6-4 40 20,5 11 12,5 6

55500 Tube A B L CH D

5550000018 4 1/4 18,5 23,5 18 12

5550000019 10 1/4 18,5 31 18 17



55620 Tube D L PACK

5562000002 4 10 18 10

5562000004 6 12,5 20 10

5562000005 8 14 21,5 10

5562000006 10 17 25 10

5562000007 12 20 27,5 10

55902 Tube A B L1 L2 CH

5590200016 10 1/4 8 31 36,5 17

55906 TUBE A B L1 L2min L2max

5590600016 10 1/4 7 30,5 48,5 55

55912 Tube A B L1 L2 CH

5591200016 10 1/4 8 31 36,5 17



55916 1-ott-2017 Manca 3D TUBE A B L1 L2min L2max

5591600016 10 1/4 8 31 48,5 55

55922 Tube A B L1 L2 CH

5592200016 10 1/4 8 31 36,5 17

55926 TUBE A B L1 L2min L2max

5592600016 10 1/4 8 31 48,5 55

56115 1-ott-2017 Tube A B H L D

5611500011 6 M7x1 5 16 16 10,5



56935 Tube A B H E C

5693500006 4 M3 3 21,5÷24,5 9 7,5

60870 Ø PACK

6087000001 4 - 14 1

60872 PACK

6087200001 1

62315 A B L A CH

6231500011 M7 5 7,5 9,5 3



62360 A B C D E CH1

6236000002 1/8 16,5 9 14 4 19

6236000003 1/4 20,5 15 21 4 24

6236000004 3/8 26,5 14 21 5 30

6236000005 1/2 28,5 20 27 6 32

6236000006 3/4 34,5 22,5 30 6 41

6236000007 1” 42,5 24,5 34 8 46

90020 D A B L CH PACK

9002000005 110 4” 23 179 125 1

90975 A1 A2 B C D CH1

9097500004 3/8 1/2 11,5 12 13 27

9097500005 1/2 1/2 16 12 13 27

90985



9098500001

OPK06 GUARNIZIONI TAGLIA

OPK06VTB2NC22 FKM 22 - Ø 10

OPK06VTB2NC30 FKM 30 - Ø 10

OPK07VTB2NC30 FKM 30/36 - Ø 13

15V

15VU200000

15VU100000



TBPVM Colour EXT. ø INT. Ø Bend RadiusWorking PressueBursting PressurePACK

TBPVM01106AZ 11 6,3 45 15 bar 60 bar 1 (25 Mt)

TBPVM01308AZ 13 8 56 15 bar 60 bar 1 (25 Mt)

TBPVM14509AZ 14,5 9 63 15 bar 60 bar 1 (25 Mt)

TBPVM15510AZ 15,5 10 70 15 bar 60 bar 1 (25 Mt)

TBPVM19127AZ 19 12,7 89 15 bar 60 bar 1 (25 Mt)

TBPVM02316AZ 23 16 112 15 bar 60 bar 1 (25 Mt)


